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General Instructions :
Read the following instructions very carefully and follow them :

(i) This question paper contains 30 questions. All questions are compulsory.
(i)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii)  Section A — Questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

(iv)  Section B — Questions number 13 to 18 are Short Answer type questions. Each question
carries 2 marks. Write answer to each question in 50 to 60 words.

) Section C — Questions number 19 to 23 are Long Answer type-I questions. Each
question carries 4 marks. Write answer to each question in 100 to 120 words.

(vi)  Section D — Questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

(vii) Section E — Questions number 27 to 30 are Long Answer type-1l questions. Each
question carries 6 marks. Write answer to each question in 170 to 180 words.

(viii) There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions has to be
attempted.

(ix)  In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions
are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark
each. 12x1=12

1. Arrange the following events in chronological order :
L. Gorbachev became the General Secretary of Communist Party of the
Soviet Union.
II. Russia, Ukraine and Belarus declared that Soviet Union is disbanded.
III.  Russian Revolution.
IV.  Fall of the Berlin Wall.
Choose the correct option.
(A) HOLLIV,II
B) HOLILLIV
(© HOLLILIV
(D) HOLIV,LII
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2. TorT mrew ORI TTOTSET o Tegu iRl 3 gEet 10 9Nt ok foT S7o Rl Tt H e fera
I TR 7ot wore AT 3Tt 10 a1 o6 forg w11 ot 2

(A) TeRfiTsTEaT 3iit Fwmferea (B)  Iohd SR IS
(C)  qehHIETH 3T ISelferedm (D) TSIt 37 SHstTiohea™
3. “fefmmrafemiicsiad 000 U R
(A) TS ORIV T % BRI 3l AT i
(B)  efommi s sAfem=or I fasma = fafmfig s it
(C)  Touifert & amer SRE o o T SRR |re i
(D) e SATHHUT o foreg, FRET AT STHAT Uehed o6 TAT HT0€ 1 &A1 i

4. T, VTR ATIGT AT TSTHfcreh e o RO <0 B ATt AN ol TR

Y R [HR/HET T8 ?
(A) WMl (B) Faifaa
(C) Yo (D) Yol

5. EE-1 T EE-11 6w e shiferg Sfit 3T o &9 4 Wl foaehey g ;

Tl gel-11
1. FeIl GRETOT AT, Yra i) 1975
2. forsreft stferfaem, wra () 1992
3. e FEIEH (iii) 2001
4, dcS Feta Ak Ifefma (iv) 2003
ioeT (qeratia)

[EETS
(A)  1-(iv), 2-(i), 3-(iii), 4-(ii)
B)  1-(iii), 2-(iv), 3-(ii), 4-()
(C)  1-(ii), 2(iii), 3-(1), 4-(iv)
(D)  1-(0), 2-(ii), 3-(iv), 4-(iii)
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2. The Presidents of which Central Asian Republics appointed themselves to power

first for ten years and then extended their term for another ten years ?
(A) Kyrgyzstan and Kazakhstan (B)  Ukraine and Azerbaijan
(C)  Turkmenistan and Uzbekistan (D)  Tajikistan and Kazakhstan

3. “Disarmament” requires all states to

(A) give up certain kinds of weapons
(B)  regulate the acquisition or development of weapons
(C)  share information about arms with rivals

(D)  coordinate their actions to deter or defend against military attack

4. People who flee from war, natural disaster or political persecution are called
(A)  Fugitives (B)  Expatriates
(C)  Refugees (D)  Migrants
5. Match the List-1 with List-IT and choose the correct option as answer :
List-1 List-11
. The Energy Conservation Act, India (i) 1975
2. The Electricity Act, India (i) 1992
3. Earth Summit (i) 2001
4. World Council of Indigenous Peoples  (iv) 2003

Options :

(A)  1-(iv), 2-(1), 3-(ii1), 4-(ii)
(B)  1-(iii), 2-(iv), 3-(ii), 4-(i)
(©)  1-(i1), 2-(iii), 3-(1), 4-(iv)
(D)  1-(), 2-(i1), 3-(iv), 4-(iii)
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6.  TU U [eTQ, < e feq T € — o Toh Rl SATehe (A) T GHL T HT (R)

ST 3iferd foharm AT ® | 39 FUET o6t e @ ufeu ok Hie fliu e femmet (A), (B), (€)

HIT (D) H ¥ 3T ¥ § ¥l forshed T |

37IYHY (4) : CTS HIET ok TETER T AT o ST, TUreT AR el ok foaT et
ITASHAT o AL W HE R |

PR (R) arght duer & e & foT %3 s S fFsieRtor, et @,
SEEAT gfg, SR urferfasht o5 i firree STeEr € |

IEETR IR

(A)  IfYRaE (A) TR HROT (R) THT T2 & 3T HR (R), AMMFH (A) T Tt

TS HATE |

(B) TR (A) SR FRT (R) IH1 W&l &, W T (R), AMFIT (A) I €&
AT 78T AT ¢ |

(C)  f¥Re (A) W&l &, T ST (R) T 2 |
(D) 3R (A) TTeld €, T 1T (R) Tl € |

7. Twfafed § @ wb-e sHifae ardf veel atemas o g fauaft ardf of 2
(A) e urd i sfean
(B) ORI SHEH
(C)  Grferee urdf
(D)  HIIH GTferee qret

8.  WIRAH HM-Y I QI H AR AT WM (EVM) 3T SN & Toha 7 2
(A) 2001 (B) 2002

(C) 2003 (D) 2004

9.  YNA AN T T vuRiicr THEid W gEder oy oy ¥ fhu e 2
(A) 1950 (B) 1952
(C) 1954 (D) 1956
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6. For this question, two statements are given — one labelled as Assertion (A) and

the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

Assertion (A) :  Common property resources have dwindled in size, quality and

availability to the poor in much of the world.

Reason (R) : A combination of factors including privatisation, agricultural
intensification, population growth and ecosystem degradation are

responsible for degradation of common property.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

7. Which one of the following political parties was the main opposition party in the
first Lok Sabha ?

(A) Communist Party of India
(B)  Bharatiya Jana Sangh
(C)  Socialist Party
(D)  Congress Socialist Party
8. In which year did India start using the Electronic Voting Machines (EVM)
throughout the entire country ?
(A) 2001 (B) 2002
(©) 2003 (D) 2004
9. In which year did India and China sign the Panchsheel Agreement ?
(A) 1950 (B) 1952
(©) 1954 (D) 1956
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10. 38 T & for, @ e fag e § — Fom e i (A) T 3R R (R)
ST 3iferd T AT ® | 39 AT @ e 9 ufey R = feu M fammedi (A), (B), (C)
HIT (D) | ¥ 3T o &9 H Fel forehed T |
STAFYT (4) :  3TTT Y Ueh ST T o ST Tk TS TAT ek THTT T |

FRO(R) . T SHSITATT GG o T STEH § ST EHT 918d o |

IEETR

(A)  SAMYFRT (A) 3R FRT (R) IHT &l & R FHAT (R), IWERI (A) T q&l
AT HAT R |

(B) AR (A) 3T HROT (R) 3T Hel &, W] BT (R), ATHRAT (A) T Gt
ST T&1 AT ¢ |

(C) AT (A) W& &, T T (R) A& |

(D) AT (A) TTAQ &, T T (R) T 2 |

11. 19555 GhI-UREH ®imke Fefiiad 3 § forg T w s of
(A)  SThTl (B) @i

A

(C) el (D)  SEn

12.  fowen e wia o fore o9 & s T 2
A) Tosrm
B) P
(© "
(D) ®\fT

LCLERC]

13.  Sfcest & fafor @ qd, qaf arfrea™ § A grT aiEm qifeedr o fate o s

FHTT T SIS | 2

14. oo foea § <Aftres T fore T geat o foTe @t 1 ok =1 6l § 2 T
FHifer | 2
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10.  For this question, two statements are given — one labelled as Assertion (A) and

the other labelled as Reason (R). Read these statements carefully and choose the

correct option as the answer from the options (A), (B), (C) and (D) given below.
Assertion (A) : Instead of one tribal state, several states got carved out of Assam.

Reason (R) : Leaders of the major tribal communities wanted to separate from
Assam.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
11.  Where was the Afro-Asian Conference held in 1955 ?

(A) Jakarta (B) Bandung

(C) Bali (D) Java
12.  To which state of India does the Dimasa community belong ?

(A) Mizoram

(B)  Tripura

(C)  Assam

(D)  Manipur

SECTION B

13.  Explain any two reasons for protests by the people of East Pakistan against West

Pakistan prior to the creation of Bangladesh. 2
14. How is ‘global poverty’ a new source of threat to security in the contemporary

world ? Explain. 2

59/S/1 9 P.T.O.
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15. 9Ra " fFRnfSa foema & sietd W gegafd s § 989 2 a1 TRl ST SRRt <kl

ISR ShifST | 2

16. 1952 ¥ TgQ SATH AT SHLEMT, WA o AT SN o6 oA T AUl e Rt o 2
TS T | 2

17. 3T g AR SArehd= fohd TehR WRA ol 3TRreh TLETT JaH i H HERIe ¢ 2 T

i | 2

18. MR o UH fohee] IR TR o A1 foTRau, ST Ueh oY 8 & 993 o T axT 1 B | 2

QuE T
19. 1962 o =i o SR T HRA 31 TSIk Rl T g TTe AT fargersor AifsTg | 4
20.  Hifodd G o forered o ohis a1 T T SHITIT | 4

21, (F) “¥IQ % YW o A1y AN [RTE @Fw § 17 31 STl shi HETdT § e hi
RIEEAIEY 4

YT

(@) ORd HT 3T DI GSIET <M & T FHErAl & fheal &1 FHon 1 foargeryor

e | 4

22. () FeTeRtor o foaier s | R ST vifieRT St st hife | 4
AT

(@)  ATROT o EaH H TSN shi SaeAdl g5 HeRT hl ARG HIIT | 4

23. &1 ATHITT AlhdifIeh TSIT ST Teh AT 3T 2 |” HYI hl FRI<d 38U | 4

59/S/1 10 _
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15.  Highlight any two factors that contributed towards the development of consensus

around the need for planned development in India. 2

16.  Why was holding of the first general elections in 1952 a great challenge for the

Election Commission of India ? Explain. 2

17. How do economic growth and democracy help India in providing greater

security ? Explain. 2
18.  Name any four Prime Ministers of India who remained in power for less than a

year. 2

SECTION C

19.  Analyse the impact of the Chinese Invasion of 1962 on the political situation in
India. 4

20.  Explain any two reasons for disintegration of the Soviet Union. 4

21. (a) “India enjoys a very special relationship with Bhutan.” Support the

statement with two examples. 4

OR

(b)  Analyse any two reasons for the problems that India has with its smaller

neighbours. 4
22,  (a) Explain India’s role in resisting globalisation. 4
OR
(b) Explain the changing role of states in the light of globalisation. 4
23.  “Regional aspirations are very much a part of democratic politics.” Justify the
statement. 4

59/S/1 11 P.T.O.
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24.

59/S/1

leLEte)
faw T Sterdor it e @ iy SR = fag Ty o I et : 4x1=4
HTS ST I TATHHT T FEd & S T g Toh e, Slfcsh GL FHETT T A RHR BT

2| I8 T I T AT WHEIRIE w5, ek AT a1 81 6T © | 36T 8 forva o o
feer aroram & @ oft & S foreft wok Qw7 3 Ty SfereR & aTet B | gefere S

T |3 A T SRS SHET S 3T ST © | 32 “dfaeh |ueT el S ¢ |

o

()  F=fafad @ h-ar gge] iy §uaT i Hed ST JUH T & 2
(A)  heeT ST STTEHT o foTT Suctsyr FaTer |
(B)  Uehel U o ATIHR-&F o dgd GHTeH |
(C)  TasrfEra =Tt & WeieH o STt HaTe |
(D) STRieTer Tarer o WISl Selt o e Hle] & |

(i) 1992 % & e & TG W TAT ST R |
(A) TAISA GEEH (B) UE T
(C) Yt gFiTH (D) foma oem

(iii) ¥k Guer & Yeier o foTu STauisdia T I SATavas © ?
frrfifiad 7 @ watR[h foshed o1 =2 hifeg :
(A)  HETEE T AT H € AR T -.qf i et € |
(B) 3T N1 o HTEMT T HTST L ok TSTHITeh AT ¢ |
(C) 30 AUA-STU HYTYHT T JIe L Thd ¢ |
(D)  Tdq ferehra o Wi gfEenror auft o fere ame & |

(iv) T=fafaa 4 9, 330 o e ST 1 e Wehid i sredrsdl § g2 & 18
ot ?

(A) = AR Ed (B) = 3t Wi
(€)= N EYh T Iwdieht (D) WRd 3R %ig
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24,
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SECTIOND
Read the given passage carefully and answer the questions that follow : 4x1=4

‘Commons’ are those resources which are not owned by anyone but rather shared
by a community. This could be a ‘common room’ or a ‘community centre’, a park
or a river. Similarly, there are some areas or regions of the world which are
located outside the sovereign jurisdiction of any one state and therefore, require
common governance by the international community. These are known as ‘Global
Commons’.

(1) Which one of the following aspects best describes the ‘Global
Commons’ ?

(A)  Resources only accessible for scientific research.

(B)  Resources under the jurisdiction of a single nation.

(C)  Resources located outside the governance of developed nations.

(D)  Sovereign regions under the common governance of international

community.

(i1)  The Rio Summit of 1992 is also known as .
(A)  Global Summit (B) Planet Summit
(C)  Earth Summit (D) World Summit

(i11)  Why is the international cooperation essential for managing the ‘Global
Commons’ ?
Choose the most suitable option from the following :
(A)  Resources are abundant and self-replenishing.
(B)  There are political benefits for sharing resources of other countries.
(C)  Individual countries can manage their resources.

(D)  The approach towards sustainable development is common for all.

(iv)  Which of the following pair of countries was exempted from the

requirements of the Kyoto Protocol ?
(A)  China and Russia (B) China and India
(C)  China and USA (D) India and France
13 P.T.O..
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25. WA & fau e reHifae War-amtE (78 15 ®), Fsmasa @ @), B), © 3w D)
o g1 JAferd foram T 2 | i &Y 1S SR o SR U, 39 TSAT ohl U&= shifSTy 371X
HUAT IR H 57k W AT, T hl T8 SRRT 3T 5hH ST q1 Jfe | fo

T Heiferd 378, <= &) g difetent & &9 | fafgu dx]=4
TR TR AEER | TR E e | sawram
T 3hE T TIT HE T 3TER
(i)
(ii)
(iii)
(iv)

(i) = Uy o8 qd TUTHE Arel SeTg IR 2T Heftr o |

(i) =@ Tsg forad qe eaws sl ST i Heiy o |
(i) o% TS Fored qd qewst . TEUSH SA1gTs T defer o |
(iv) 98 U ISE8 R o g gt ot &Y. i o1 wsfer o |

qE 1 [AEICTRad JvH Fad GIEETIET TSI’ & fo7q Yo7 @61 25 F TqH Wa : 4x1=4
(25.1) 38 TS T A fAfaw forer i o v Trsgafa o aft. i st wisfer o |
(25.2) 38 TS =1 T TR forad qef qeareisit o, HHLsT o1 de o |
(25.3) 3 TS 1 T TR forew qel et i STt 1 deier o |
(25.4) 3 TST o1 T ARG e qef et SATet sreTet STt oAt Hsier o |
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TF G, 25 & fg

P WA T Y T-AH R (ST fereh)

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —
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25.

Note :

59/S/1

In the given political outline map of India (on page 17), four States have been

marked as @, , @ and @ Identify these States on the basis of the
information given below and write their correct names in your answer-book along

with the respective serial number of the information used and the concerned

alphabets given in the map as per the following format :

4x1=4

Serial number of the

information used

Concerned alphabet

given in the map

Name of the State

(i)

(ii)

(iii)

(iv)

(1) The State to which the former Prime Minister Lal Bahadur Shastri

belonged.

(1)  The State to which the former Chief Minister Karpoori Thakur belonged.
(i) The State to which the former Chief Minister C. Natarajan Annadurai

belonged.

(iv)  The State to which the former President of India V.V. Giri belonged.

The following questions are for the Visually Impaired Candidates only, in lieu

of Q. No. 25 :

4x1=4

(25.1) Name the State to which the former President of India V.V. Giri

belonged.

(25.2) Name the State to which the former Chief Minister K. Kamaraj belonged.
(25.3) Name the State to which the former Chief Minister Karpoori Thakur

belonged.

(25.4) Name the State to which the former Prime Minister Lal Bahadur Shastri

belonged.

16
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For question no. 25

Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —  — —
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26. A e T A 1 stemE HINT AR efiad st o S o | I+1+2=4
(= & Heifia 1A 2)

() AT FohATer ST BT H Uehe G T I T8 oL 36ehT 419 [Iia |

(i) = AT TRy (@) F AT TS (3 o T H T J=Th T g3AT 2

(i) =T qE R I % sfter g foheei ot sTfelen afadH ot e i |

59/S/1 18 _
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26.

59/S/1

Study the cartoon given below and answer the questions that follow. 1+1+2=4

(The cartoon is related to China)

(i)
(ii)

(iii)

THEN

LITTLE

Identify and name the leader who is holding the ‘Red Book’.

What ideological change took place in China from the ‘Red Book’ (Then)
to the ‘Red Tie” (Now) ?

Explain any two economic changes that took place in China between
‘then’ and ‘now’.

19 P.T.O.
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qie : HEfcTiad Jv7 Fac greanierd gaerTieral & o7 T G&q1 26 FTAFARE . [+1+2=4
(26.1) =1 ¥ 1Y o1 TIfehor foret o A ferar T o 2

(26.2) = H GTFETET ShIT~ ST e i dTet T 3T AW i |

(26.3) <t AITIEAT F IeA o foTw fSrrner fohel a1 shraht sht s i |

Quee

27. () FAUT G R T AT G Q SASARL Th SATET Y ST TSt feroh ST 8= 6

T &Y A Sl Taehr Tfsham o1 gofa hifsTe | 6
3T

@) AT o Rl o st o avia ifs | 6

28. () EHHICHH foreel H Eerd g shi TTEfTeRAT shi samedT iR | 6
3TYUAT

(@) G uRyE § SHE St S w1

SUTh o oh HaH H, TeRd g shl GALEHT ohl STTTTIHell hl T 1o | 6

29. (%) 1947 U Tofer sfean o o & formet = wicorm o1 fervermor Hifs | 6
aroraT

(@) | o AR o H forerr o fore Sverft et s foreetwor Hifs | 6

59/S/1 20 _
% collegedunias



Note :  The following questions are for the Visually Impaired Candidates only, in lieu
of O. No. 26 : 1+1+2=4

(26.1) In which year was the privatisation of agriculture introduced in China ?

(26.2) Name the leader who led the Communist revolution in China.

(26.3)  Explain any two factors responsible for the growth of Chinese economy.

SECTIONE

27. (a) Describe the process of evolution of European Union from an economic

union to an increasingly political and military bloc. 6
OR
(b) Describe any three objectives of the ASEAN. 6
28. (a) Explain the relevance of the United Nations in the contemporary world. 6
OR
(b) ““The Security Council lacks equitable representation.’’

In the light of the above statement, explain the need for restructuring the

United Nations. 6

29. (a) Analyse any four consequences of the partition of British India in 1947. 6
OR

(b)  Analyse the events that led to the merger of Manipur into the Union of
India. 6
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(a)

(b)

Describe any four major political developments that took place in India
from 1989 to 1999. 6

OR

Describe any four issues on which consensus has emerged among most

political parties of India. 6
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